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This (transistor sizing) is out of scope
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It will be given that the unit sized inverter has
● resistance RN/W
● input capacitance 3WCG
● parasitic capacitance 3WγCG

Remember in this problem PMOS has 2x resistance than NMOS
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Your gate:
● resistance 2RN/W
● input capacitance 3WCG
● parasitic capacitance 6WγCG
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where tp0 = 0.69 RN 3γCG Because f for your gate is 1
(input capacitances are both 3WCG)

By taking the sum of delays

where f is ratio of load capacitance 
over input capacitance of unit inverter
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Now inverter is 4x larger, f = 4.

Then total delay is
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x2 x1 x0 y2 y1 y0
0 0 0 - - -
0 0 1 1 0 0
0 1 0 1 0 1
0 1 1 0 1 0
1 0 0 0 1 1
1 0 1 1 1 1
1 1 0 0 0 1
1 1 1 1 1 0

y0

y1

y2

Let x be output and y be input of the FFs.
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Majority vote:


